
50

F
W

=(B
-P

L)/2

20

P
IN

C
E

R
 2+2 E

R
T

A
IN

_2 S
Y

S
T

E
M

D
E

N
O

M
IN

A
T

IO
N

A
4

F
G

W
=F

W

M
G

W
=M

W

M
G

H
=M

H
-46

F
G

H
=F

H
-60

M
W

=(P
L+100)/2

M
H

=H

165

P
incer

S
cale: 1/2

160

35 60

P
L=(B

-200)/2

B
=2xP

L+200

F
H

=H

135

M
W

=(P
L+100)/2

F
W

=(B
-P

L)/2

20

7

50

P
L=(B

-200)/2

M
W

=(P
L+100)/2

B
=2xP

L+200

135

FH=H

FGH=FH-60

MH=H

MGH=MH-46

35

165

HT=H+160

HT=H+160

MGH=MH-46
MH=H

FGH=FH-60

FH=H

50

F
W

=(B
-P

L)/2

20

7

35 60FGH=FH-60

HT=H+160

FH=H

MGH=MH-25

MH=H

135

165

P
incer in the T

op

100

100

F
ixed w

ith "P
erfil A

utoportante E
rreka"

S
cale: 1/5

F
ixed w

ith U
P

N
 160

B
eam

 (B
)

S
cale: 1/30

Height Passage (H)

S
cale: 1/5

F
ree P

assage (P
L)

B
eam

 (B
)

F
ree P

assage (P
L)

F
ixed Leaf H

eight (F
H

)

F
ixed Leaf W

idth (F
W

)

M
obile Leaf H

eight (M
H

)

M
obile Leaf W

idth (M
W

)

F
ixed Leaf G

lass H
eight (F

G
H

)

F
ixed Leaf G

lass W
idth (F

G
W

)

M
obile Leaf G

lass H
eight (M

G
H

)

M
obile Leaf G

lass W
idth (M

G
W

)


